


P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg.dwg

?

?

n26\1 p383,5x16mm

A

B

A=B

§

2

§2

§1

§3

§4

§5

Ogólne zasady monta¿u mebla

1

§

§9

§8

§7

§6

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

§9

§7

§8

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla

Ogólne zasady monta¿u mebla



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

2 /19 

.dwg

§1

0 1 2 3 4 5 6 7 8 9 10
cm

S246-KOM2W3S/9/17 10A1--21
A C (mm)B D

A

3/3596198S246-00041

3/3596215S246-00052

1/3381887S246-10103

1/3381887S246-10114

2/34011698S246-20095

2/34011698S246-20106

2/3381525S246-30037

2/3381525S246-30138

1/3381525S246-30149

1/3371582S246-301510

1/3276362S246-550211

1/3354362S246-555112

2/3150887S246-700913

2/3150887S246-701014

2/3251401S246-701115

2/3251184S246-701216

2/3251401S246-701317

2/3251184S246-701418

3/3218218S246-730119

3/3546915S246-780720

3/3546915S246-780821

3/3596494S246-780922

3/3538897S246-900523

3/3538897S246-900624

3/3597897S246-901225

1/3358553WSP-907026

1/3140350WSQ4-50527

1/3140350WSQ4-50628

1/3127544WTQ-505229120min

n mm10

§11

1x

w117\P350 mm

3x

12x

Ø6,5x40 mm

8x

Ø7x50 mm

3x

350 mm

 

12x

Ø12x10,5 mm  #12

 

24x

Ø6x13 mm

w117\L350 mm

3x

8x

Ø3,5x15 mm

32x

Ø8x30 mm

38x

Ø3,5x16 mm

 

12x

Ø5x16 mm

6x

Ø8x50 mm

2x

Ø4x25 mm

12x

Ø2,9x16 mm

36x40x

Ø15x12 mm  #16

10x

M4x25 mm

10x

2x 4x

1x

Ø10x50 mm

1x

86x21x15/1,5 n14\2

1x

Ø5x60 mm

 

2x

Ø3,5x16 mm

 

4x

n5x17 mm

24x

Ø5,3/Ø8,3x4,8 mm

5x

o60\5

2x 8x

Ø4x35 mm

 
 

4x

K0;ϕ35

hamulec

20x 12x

20x13x3,5\1

46x

Ø16

8x

4x

1x

o60\3

3x

Ø3,5x16 mm

 

3x

Ø3,5x10 mm

 



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

3 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

13
16

11

15

6

18
14

11

173
4

7

8

8

9
10

23

24

25

20

12

21

12

5

27

29 28

26

29

27
28

26

29
27 28

26

22

191921

15kg

Max

5 kg

Max 5 kg

Max

5 kg

Max

5 kg

Max

5 kg

Max

4 kg

Max

4 kg

Max
4 kg

Max

4 kg

Max



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

4 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 

II

III

r10

r10

V

VI

IV

I

I II

b59

e47
13

16

15
13 15

16

16

13

15

r1

r1

r1
r1

r1

r1
r1

r1

r10
f6

r10
f6

r10
f6

r10

f1

f1

r1

r1

r42

r42

r42 b59
f1

f1

4x

4x

Ø8x30 mm

2x

Ø15x12 mm  #16

2x

r42

b59

8x

Ø15x12 mm  #16

3x

Ø8x50 mm

4x 6x

Ø5,3/Ø8,3x4,8 mm

6x

Ø5x16 mm

e47
o54

11

1 §2

I

II

III

§11



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

5 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

II

III

r10

r10

V

VI

IV

I II

b59

e47

I

II

III

1 §2

8x

Ø15x12 mm  #16

3x

Ø8x50 mm

4x 6x

Ø5,3/Ø8,3x4,8 mm

6x

Ø5x16 mm

2x

4x

2x

Ø15x12 mm  #16

4x

Ø8x30 mm14

17

18

14
18

17

14

17

18

11

r1

r1

r1

r1

r1

r1

r1

r1

r10
f6

r10
f6

r10

f6
r10

r42

r42

r42

r42

b59

b59

e47
o54

§11



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

6 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

w117\L

e3

e3

2x

Ø15x12 mm  #16

4x

Ø8x30 mm

2x

n5x17 mm w117\L350 mm

3x 12x

Ø6x13 mm

r42

r42

r42

r42

d1

d1

r1

r1

f1

f1

w117\L

w117\L

w117\L

e3

e3

e3

e3

e3

e3
f1

f1
3

3

p123

o60\2

o60\5
o60\5

o60\5

1x 2x

Ø2x8 mm

4x

Ø15x12 mm  #16

4x

Ø8x30 mm

4x

7

o60\5

f1

f1
r1

r1

r1

r1

f1

f1

p123

1 §2



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

7 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

r42

r42

r42

r42

4

f1

w117\P

w117\P

w117\P

f1

e3

e3

e3

e3

e3

e3

d1

d1

r1

r1

f1

f1
4

w117\P

e3
e3

2x

Ø15x12 mm  #16

4x

Ø8x30 mm

2x

n5x17 mm w117\P350 mm

3x 12x

Ø6x13 mm

p123

o60\2

o60\5
o60\5

4x

Ø15x12 mm  #16

4x

Ø8x30 mm o60\5

1x 2x

Ø2x8 mm

9

o60\5

r1

f1

f1

r1
f1

f1r1

p123

1 §2

4x



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

8 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

I II

8x 4x

Ø15x12 mm  #16

4x

Ø8x30 mm

5

8

r42

r42

r42

r42

r42

r42

r42

r42

f1r1

r1
f1

r1

f1

f1

r1

§21



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

9 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

r42

r42

r42

r42
r1

r1

r1

r1
r1

r1

r42

r42

r42

r42

r1

r1

r1

r1

I III

r42

r1 r1

I III

r42

r1 r1

§632 §6

4

8

9

17

18

14

3

7

8
15

13



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

10 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

4 §6

I III

r42

r1 r1

5 §6

r42

r42

r42

r42

r42

r1

r1

r42

r1

3

4
9

7

15

16

13

17

5

23
25

24



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

11 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 
 

 

8x

Ø7x50 mm

1x

e1

e1

e1

e1

e1

e1

e1

e1

6

23

25

24

15

13

z1

k55

p6
p6

p36

k53

k53

p36

k55

p6

k55

p6

k55

p6

6 §6 7 §6



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

12 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

A

B

A=B

n108

p55
A

B

A=BVIVIIIIII

12x

Ø2,9x16 mm

12x

20x13x3,5\1

10 20x

359 mm

l1

l1

l1

l1

n108

p55

n108

p55

l2

l2

l2 l2

l2

8 §6



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

13 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

2x

K0;ϕ35

hamulec 4x

Ø3,5x15 mm

6x

Ø5,3/Ø8,3x4,8 mm

6x

Ø3,5x16 mm

 

I II

a102
a102

b59 b59

2x

K0;ϕ35

hamulec 4x

Ø3,5x15 mm

6x

Ø5,3/Ø8,3x4,8 mm

6x

Ø3,5x16 mm

 

a102

p51

a102

p51

a102

p51

a102

p51
p38
o54

p38

o54

a102

a102

b59 a102

a102b59

20 21

20

21

3
4

5

9 §6 10 §6

11 §6

§11 §11

12
12



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

14 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 
 

§4

p38

\2\2\2

f35
p17

d1

c347

j8

j8

c347

j8

j8

21
20

10

3
4

12 §6

2x4x

M4x25 mm



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

15 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

I III II

I II

4x 4x

4x 4x

Ø6,5x40 mm

13 §7

1

2

22

27

29

28

r42
r42

r42
r42

r42
r42

r42
r42

r42
r42

r42
r42

I II

I I



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

16 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 

 

 

 

II III

r42

r15
r15

r15I

p38

8mm

4x

Ø12x10,5 mm  #12

 

r15

r42
r42

r42
r42

t35

t35
p25

p35

t35

p38

p38

c347

j8

j8

1

26

1

26

1

28

29

27

28

27 29

1

28

27

III IV

V
VI

1x

350 mm

 

1x

Ø3,5x16 mm

 

1x

Ø3,5x10 mm

 

6x

Ø3,5x16 mm

 

1x 2x

M4x25 mm



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

17 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 

 

 

 

r15I II III

r42

r15
r15

4x

Ø12x10,5 mm  #12

 

p38

III IV

V VI

8mm

c347

j8

j8

t35

p35

t35

p25

t35

p38

p38

r42
r42

r42r42

28

29

27

2

27 29

28

27

2

29

28

26

26

1x

350 mm

 

1x

Ø3,5x16 mm

 

1x

Ø3,5x10 mm

 

6x

Ø3,5x16 mm

 

1x 2x

M4x25 mm

2

r15

2



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

18 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

 

 

 

 

 

III IV
II III

r42

r15
r15

r15I

4x

Ø12x10,5 mm  #12

 

V

VI

1x

350 mm

 

1x

Ø3,5x16 mm

 

1x

Ø3,5x10 mm

 

6x

Ø3,5x16 mm

 

22

22

22
22

22

19

27

29

28

28

29

19

28

27

26

r42r42

r42
r42

p38

p25

t35

t35

p38

p35

t35

c347

j8

j8

p38

p38

p38

p38

8x

Ø3,5x16 mm

 

19

1x 2x

M4x25 mm

p38

p38

r15



P28-S246-KOM2W3S_9_17-M_IN16-A-KOR01.dwg

19 /19 

.dwg

S246-KOM2W3S/9/17 10A1--21

 
A

§10

I II III IV

§21

46x

Ø16

22

1919

2

1
21

20

w117\L
w117\P

§10


